novotechnik

Siedle Group

TX2R I B & B IERES
BaitxX, H2E+, TEE=EAHAE300 mm
PR ERIP67

oAk s B DR SR 9m  GR R R AR IR B R A A
R L AR B RAT REEE, WEEmE, R, A . %
Besiis B IS T R T 58 AR, TR 238 F PR % &
P, FERE G LR, AR RS R E e R R A Sk R
LN

HeRMPmkRE, Wi/ AR EasE, 28 1%
&S — i B AL 2 BRSO TEX = i B0k

e

o ZEHEEE 016 mm

o Pifhsgy IP6T7

o HRKGMK, WARMASE, BITRERE 5000 7 iKiE&s)
° SHERMET 0.01 mm

o PEfiS, ik £0.05%

o ERATWIR, M5, KAEEHHEE

o Al ek L B B i B 7 5K

W M

L B AL 5

wo % L

EUAN i AN (1.4308), WIlER:, M6 SMERLL
i & B v

LN SHLR

R B4 2 Sl it R

WA 3 £ M8x1 il %

45 PUR DRIHLSE, 4x0.14 mm?, {2k




novotechnik

18

Siedle Group
31 min.
” 31,1 min. 200010
4 t N
@ —| =
10 min 10 min.
\uj w| S Ce ! i
) N T o G
K W)
g 2
= 13 13
o
o] —
o — 1. ?J
- P 1_‘@ ) @
) o S 3
I | 2
=1 =m=
| |
M5x20 1S0 4762 M5 x 20 1S0 4762
| A 41 Nm 5. 421 Nm
I
= <
[=]
= |
—] e
£
A @16 _ L
<
£ @16
w
[2a]
I
@5 . @5
! w|
o
M5 M5




novotechnik

Siedle Group
BEFEY ™>2 ™>2 ™>2 ™>2 X2 ™>2 ™>2 T2
0025 0050 0075 0100 0150 0200 0250 0300
BSSH BT
AR 25 50 75 100 150 200 250 300 mm
BAFTRE 27 52 77 102 155 205 255 305 mm
iR 1 2 3 4 6 8 10 12 kQ
B 2 7% 20 +%
o 2k 0.2 0.1 0.1 0.1 0.05 0.05 0.05 0.05 +%
DES1:3 0.01 mm
T IF % AR <1 pA
SHIC IR 8 R PR 5 K LIS 10 mA
FeF R TAEHL R 42 \Y
A P S AR R BB 5 ppmM/K
#s 2B (500 VDO) >10 MQ
#6238 (500 VAC, 50 Hz) <100 pA
WS
ShrekE (RSFA) 86 111 136 161 224 274 324 374 +1mm
HUbkATRE (RsFB) 30 55 80 105 158 208 258 308 +1mm
it ese R O D) 30 50 70 90 140 190 240 290 mm
LA Ghbsetd /A OS] E) 15 20 25 25 35 35 35 35 mm
ik
Hedfi I (101) 100 110 120 130 150 163 190 205 g
g (202) 120 156 160 177 190 225 250 270 g
TAeRN
KT
T P 77 1] <5 (fERT=20°C Iit)
JAdhL K15 ()
TESH
AR IR 7 Witk -40 .. +85; MFH4i: -20 ... +100 °C
AR B S 0..95 (Fi&kE) % R.H.
B bk 5 ... 2000 Hz
Amax = 0.75 mm
amax = 20 g
o b e 50 g
6 ms
H il >50 x 10° n
I KB AT 5 m/s
B B 2 2 IP67 DIN EN 60529 (i Ji] IP67 ¢ T i 5 e i3z 3% )

AR Bi%: 4% IP67 ZA4E DIN EN 60529 M2 T U«
SPk A RITOK, B 0.5 /i,

AEANT) 10 8 B AR S AT, AT o ok sl VA PTG, T A 7 i i el 32 M

*) AR B 2 M B SR B AR i L R T A TR (KT 15N)



novotechnik

Siedle Group

1T A4 15 AR

BeEA
002: ittt

BSERE

i XN R28 - BON BiN B5H NON - B78 BN 878 - NON NON B28 - N2N RON 82

Hlii s
7. BHF

HUHZE ST
1o RIS IR R MO EREL

B4R
7 MRHIAT, P67

IiEEREEE
0025mm#%0300mm

101: 3fFMex1 BBk, il
202: NTHREKWAL, il

ZHLA

Jo T ER e L T 5%
T 32 ), SRR R AR R
FRLAT B 3 75 1A AT 7
BESEFOHLAR I BR IR 22, fi 4% j&
WRERIG,

15 B W = o B 51 2 1k
B M. PR, U
AN HBELAE Fin 43 FETE 5K B i
RECERUE, ALK TARTE
VLB SRR 23 A o v e i th 2%
St L REY WA, ELIE R AR
IR (e< 1pA) &4 1,

EBRNEEE
o 2RI, 24 M5x20 2T

EEHG (F5MTH )

PUR HL8E, ¥ 3 £F M8x1 M EH:J, 3x0.34 mm?2, IP67, AitiBtik
o 2kHigy, MYE. EEM33-64, rmigmS: 005617

o 5okHigy, WS, EEM33-66, rm&4wS: 005619

o 10kH8E, WS, EEM33-68, /M5 005643

305

PUR M4, 7 3 & M8x1 MZ5H:3k, 3x0.34 mm2, IP67, AifiBfilik

—oO 1
22 |:|—|—Q 4
=
L—o0 3
EEM 33-65 VL% 1

sk HiHmL Y
e 2°kKHi%E, M%. EEM33-65, %S . 005618 #2101 %2 202 EEM 33-64 / 66 / 68 / 65/ -67 / -69
o 5okigl, MWE. EEM33-67, MaZmS: 005620 S 1 bt bt
o 10 KHi4E, B, EEM33-69, r=ih%m% . 005644 4 B e

E 3 e (R E)

] 4 TR S ) LA I B PR LB

o FREHk Z-301-M5/M5 FEimgm s . 0568002
o ZRARE:L Z-GO1 hgE . 056014

o WRREHIE TR MAP . ATHBES R
o [EEEEHE MUP .../ MUK ... TAEHE 24V, FrdEfs S

i
BRES ot rm,



